T e SI

$BIYD uonexy uojeulwex3 J0 J3}|043u0J

Pd

28eJany Juiod

3pe.D ||BIBA0 = VdOO
4NOH paJ) = HD

' julod 3peis = do

speI9=o

1oL = 1|

We2sad = % [ea1eId = Hd
w04

upaud [e10L = ddL AiosyL=hL
ANoOH

AWPOID [B10L = oy | PRWSSISSV IRl = v

ul0d Wpai) = d) | soqunn jjoy =Ny

910N

™

a4 |T9TL|SEE |49 0T |8 (T v_< 00’8 Nv_NN 9T |V |6 m_m L9°0L|€S (ST [0€| 8 (2T |€ v_< L9c8|T9| T | 1€ |6 |6 |€|€|Q|009L|L5|TT|9z|0T|8 | Z ¥ |V]|00°Z8 [t¥|oz|9T|S |6 |£|€|a|zove|os|oz(sz|8 [zt|+ |c|aloocs] ez [iv]ez] 6

| dJ Iun_mu_w % |1 _zm HL|vi n_u_._un_w_mv % |1 |4d[HL|VI|dD qu_w_w % |1 [4d|HL(|VI|dIOHIdDID| % |L |¥d[HL|VIdI[HIMO[D| % |1 |4d[HL|VI|dDHOWO|D| % | L |ud|HL|wi|dD[HOWD|D| % 1 |¥d |HL| VI

uoising [ % |VdDO|dIL{HIL

(T+T)Z ‘€01 Wd1 (T+2)€ ‘20€ LSV (1+2)€ ‘20T 28N (T+2)€ ‘20T Wd1 (T+1)2 ‘20T NNV (T+2)€ ‘T0T AdA (z+2)v ‘€0T NVA

€£0/2L0T : Jed) diwapedy
(ovg) Jersawas | 7 “H'VR'IS"A'g : 199YS }nsay
SaM3YsI4 pue ddudIds >me_._wuw> ducm_um jewiuy : Ajjnde4




